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Read the Poem given below & answer the Q. No. 36 to 41 -

O moon,

Give me moonlight,
Basketful or two baskets full,
With seeds of moontight.
From the city to my village,
On the sides of the path
I want to sow many,
Small, small moons of light.
The whole village goes to the city
Daily to work.

It becomes dark on its way back
As my village is quite far,
The route is tough and full of snakes and scorpions.
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Q. No. 36

Q. No. 37

Q. No. 38

Q. No. 39

Q. No. 40

Neither bus nor cart plies.
When my father returns home
I am asleep.
And he goes back early in the morning
While 1 am sleeping.
O moon
Give me a basketful of moonlight
On loan.
I want to light the dark route
So that my father returns early.
I too want to hear fairy tales
And stories from him
O moon give me a basketful

Of moonlight
I want to sow seeds of moon on the
Sides of the path.
: The poet is asking moon to give him.
(A) basketful or two (B) pot, full of moonlight
basket full with seeds with flowers
of moonlight
(C) basket full of toys (D) none of above.
: The village is
(A) too near to city (B) just near the city

(C) far away from the city (D) none of above.

: The route 1s

(A) oftarroad (B) of concrete road

(C) of simple road (D) tough and full of snakes
and scorpions

. After early return of father, what the poet expects from him.

(A) chocolate (B) sweets
(C) toys - (D) to hear fairy tales and
stories

. After receiving moonlight what he wants to do?

(A) Store the moonlight (B) So sow seeds of moon
and play with it. on the sides of path.
(C) Choose the moonlight (D) None of above.
to show his friends.




Q. No. 41

Q. No. 42

Q. No. 43

U . 44

Uv %6, 45

U 3. 46

U . 47

q¥T o, 48

: Pick up the correct synonym for ‘Distinguish’.

(A) darken (B) abolish
(C) differentiate (D) confuse

. Change the voice -

He teaches us grammar,
(A) Grammar is taughtto (B) We are being taught

us by him. grammar by him.
(C) Grammar is being (D) We are taught grammar
taught to us by him. by him.

: Change into indirect speech.

“I don’t know the way, do you?”” He asked.
(A) He said that he didn’t know the way and did I know it.

(B) He told that he was not knowing the way, but wondered
if I know.

(C) He said that he didn’t know the way and asked me if I
did.

(D) He asked me if I knew the way which I didn’t.

PSR adb g aun 3w AEd X @I HvET 5% JedE

T TR ?
(A) ab+1 (B) a+b+1
(C) ab (D)  ab+2
;T OR T e SRl 27 R @Y ST 9aig miet
AT HIvTr ?
(A) 38 (B) 36
() 32 (D) 30
;RIS SJ9IT S hived] WShIIYH S aiell 3% ?
(A) THERZ (B) sgiee
(C) oo (D) SFuare
: SHIVTCAT HEAT TERIER HGRTe 7 21 3% 18 auiuda
HIEaUaT e 3R 7
(A) 57 =1 (B) 61 =1
(C) 59 = (D) 63 =
ffoTeTadl” ar Ui T GUeR ST 2
(A) SRR (B) w@ra
(C) smihvg (D) WBHER




Q. No.49 : Correct meaning of idiom, to talk ones head off

(A) totalk loudly (B) to taik whispers

(C) totalk to oneself (D) to talk excessively
g9 %. 50 : Wl HIvM! TRl IRET TR ST AR 2

(A) FA (B) @t

(C) wieat (D) wEFRI

HAEHI® Gl

Q. No. 51 : The slope of the line joining the crown & edge of the road

surface 1s known as

(A) gradient (B) camber

(C) shoulder (D) super elevation

Q. No. 52 : Which is not Temporary Adjustment of theodolite?
(A) Centering of Base (B) Levelling of Telescope

Plate _
(C) Focusing of Telescope (D)  Adjustment of vertical
axis.
Q. No. 53 : The output of Total Station is in form.
(A) digital (B) analog
(C) picture (D) manual

Q. No. 54 : In M-20 grade of concrete, 20 indicates
(A) 28 days characteristic (B) 20 days characteristic

strength in N/mm’ strength in N/mm’
(C) 28 days characteristic (D) 20 days characteristic
strength in kg/cm’ strength in kg/cm’
Q. No. 55 : To resist centrifugal force, the outer edge of a road is

generally raised above the inner edge. This is known as

(A) super elevation (B) camber
(C) shoulder (D) gradient
Q. No. 56 : Steelis an alloy made up of
' (A) 1ron and aluminum (B) iron and chromium
(C) 1iron and nickel (D) iron and carbon
Q. No. 57 : The clear distance between the inner faces of rail for broad
gauge track is )
(A) 1.676m (B) 1m
(C) 1.720m (D) 1.856m




Q. No. 58

Q. No. 59

: The compass needle does not point to magnetic meridian

due to external attractive forces. This deviation of needle

from its normal position is called
(A) internal attraction

(C) local attraction

(A) caisson
(C) footing

(B)
(D)

(B)
(D)

declination

gravitational attraction
: Which of the following is not a type of foundation?
piles
basement

Following table shows some reading in a leveling work. Calculate the
missing readings shown as A, B, C, D, E, F, G, and H.

Sr. No. B.S. LS. F.S. Rise Fall R.L.
1 ‘A 150.00
2 2.457 0.827 B
3 2.400 0.057 C
4 2.695 D E 148.070
5 F 2.051 148.716
6 2.500 149.784
7 2.896 149.388
8 G 0.124 H
9 2.672 149.612
Q. No.60 : ‘A’=?
(A) 3.150 (B) 2.150
(C) 1.630 (D) 1.100
Q. No.61 : B =?
(A) 149.073 (B) 149.173
(C) 150.073 (D) 150.173
Q.No.62 : ‘C=?
(A) 149.130 (B) 149.230
(©) 149.730 (D) 149.030
Q. No.63 : ‘D'=?
(A) 3.560 (B) 3.056
(C) 3.460 (D) 3.550
Q. No.64 : ‘E=?
(A) 1.160 (B) 2.160
(C) 0.160 (D) 1.150
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Q. No.

Q. No.

Q. No.

65

66

67

: LF’

f?

(A) 3..558

(®)

3.068

: ‘G’ - ?

(A) 2.020

(©

3.020

: ‘H, —_ ?

(A) 149.264

(€

149 364

(B)
(D)

(B)
(D)

(B)
(D)

3.468
3.568

3.120
2.620

149.564
149.064

Following table shows some readings and missing values indicated by
A,B,C,D,E, F, G. Calculate valuesof A,B,C, D, E, F, G.

Q. No.

Q. No.

Q. No.

Q. No.

68

69

70

71

.72

.13

.74

A ‘A,: 92

(A) 3.74

(&)

1.74

: ‘B'=7

(A) 201.740

()

199.740

. ‘C’: t)

(A) 2.895
(C) 2.180

D =7

(A) 200.700

(€

(A)
(&)

199.845

. ‘E'= 7

1.600
3.600

: 6F! — ?

(A) 201.300

(&)

198.680

‘G =1

(A) 2.700

(©)

3.700

11

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

2.74
0.74

200.000
199.645

2.495
3.895

201.070
197.560

2.600
0.600

199.660
201.170

1.700
0.700




Q. No.

Q. No.

Q. No.

Q. No.

75

76

.77

.78

.79

. 80

.81

82

83

: When the drain is over the canal, the structure provided is

known as ?
(A) aqueduct (B) canal syphon
(C) super-passage (D)  siphon aqueduct

: The relation between safe bearing capacity (S), ultimate

bearing capacity (U) and factor of safety (F) is

(A) S=UxF (B) U=F/S
(C) S=U/F (D) S=U+F
: In case of multiple contour lines intersect.
(A) same elevation (B) overhanging cliff
(C) wvalley (D) ridge line
: The principal reason for incorporating fiber in cement
matrix is
(A) toimproverigidity  (B) to decrease resistive
forces
(C) to increase tensile (D) to make it economical
strength
: What is the use of radtographic test in NDT of concrete?
(A) todetect voids in (B) to measure surface
concrete hardness

(C) to detect corrosion (D) to measure the diameter
of the reinforcing bars

: Perspective drawing 1s a set of technique used to draw

scene to two dimensional surfaces.

(A) 2D (B) 3D
(C) colored (D) imaginary

: Find the included angle between the bearings 53°30” and
328%5°

(A) 37°30r (B) 31°15°

(C) 276°15° (D) 83°%45°

: If depth of foundation is less than width then it is called?

(A) shallow foundation (B) deep foundation
(C) pile foundation (D) box foundation

: In RCC pile foundation, at the ground, the pile is covered

with on which columns can be constructed.
(A) rubber (B) bearing
(C) cap (D) coping
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Q. No. 84

Q. No. 86

Q. No. 88

Q. No. 90

. The load of the materials forming part of the building is

called as load.
(A) active (B) live
(C) construction (D) dead

is an operation for measurement in

vertical plane.

(A) leveling (B) plane table surveying
(C) aenal survey (D) traversing

: The mean sea level at is considered to as
the datum for G.T.S. bench mark in India.
(A) Mumbai (B) Karachi
(C) Kochi (D) Chennai

. The inclination of the needle with the horizontal is called

of the needle.

(A) true bearing (B) local attraction
(C) magnetic bearing (D) magnetic dip
: In construction, roofs and floors are directly
supported on walls.
(A) frame (B) steel
(C) load bearing (D) RCC
: Valley line is indicated by higher elevation contours
_____ theloop.
(A) outside of (B) inside of
(C)  adjacent side of (D) both sides of
: What is the ideal depth of the frog in a brick?
(A) 1 mm (B) 3 mm
(C) 5 mm (D)  10mm
-: Fea fequrETet S -
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